WhEHF RERSEEAERER (TEHE) SHMTE12A1B~12A318
B 4 Gy/h= 1 Sv/h (34909 L4 /BB =198 —A~" W/ B TE)

e | ma% | bEm o | EEs | vhEm | masam | WDEF | ARA | ATEE | wbEm | LpEmn
BIEAB | AT L =Fr AREE Fyo Tty | BEXAR =Fr N KT | HEBEVY—| EHXA | 7RLRE
LWhEH LWhEH LWhEH LWhEH LWhET LWhEH LWhEH LWhEH LWhEH LWhEH WhET
?E%%jﬁ%?ﬁ‘%@ 2Lk [icfeagid) Fis) i) ki EELEaL ki ki kil ki kil L
F AR U 5 #157km #31km #134km #132km #148km #150km #158km #63km #153km #152km #163km
1 Z(HE;) B oms 0.05 0.06 0.07 0.08 0.05 004 0.05 0.05 003 0.04 0.04
1 Zflﬁz)E' 158% 0.05 0.06 0,07 0.08 - - - - 0.04 0.05 0.05
1 25(3)5 158% 0.05 0.06 0.07 0.08 0.05 004 0.05 0.05 0.04 0.04 0.04
1 2(’3(4)5 158% 0.05 0.06 0.07 0.08 0.05 004 - 0.05 0.03 0.04 0.04
! 2&5)5 158% 0.05 0.06 0.07 0.08 0.05 004 0.05 0.05 003 0.04 0.04
1 2(’2;)5 158% 0.05 0.06 0.07 0.08 0.05 0.04 0.05 0.05 0.03 0.04 0.04
! 2&7)5 158% 0.05 0.06 0.07 0.08 - 004 0.05 0.05 0.04 0.04 0.04
1 Z(EE%E' 1585 0.05 0.06 0.07 0.08 0.05 0.04 0.05 0.05 0.03 0.04 0.04
1 25]5]9)5 158% 0.05 - 0.07 0.08 0.05 0.04 0.05 - 003 0.04 0.04
12&? Bl sps 0.05 - 0.07 0.08 0.05 0.04 0.05 0.05 003 0.04 0.04
‘2}3}‘(; B sps 0.05 0.06 0.07 0.08 0.05 - 0.05 0.05 0.04 0.04 0.04
12’3&)2 Bl sps 0.05 0.06 0.07 0.08 0.05 0.04 - 0.05 0.04 0.04 0.05
‘2}(2)3 Bl ysps 0.05 0.06 0.07 0.08 0.05 0.04 0.05 - 003 0.04 0.04
! 2’? :ll? B sps 0.05 0.06 0.07 0.08 0.05 0.04 0.05 0.05 0.04 0.04 0.04
! 2}331 ;5 Bl ysps 0.05 0.06 0.07 0.08 0.05 0.04 0.05 0.05 003 0.04 0.04
! 2’35} ? B sps 0.05 0.06 0.07 0.08 0.05 0.04 0.05 0.05 0.04 0.04 0.04




WhEHF RERSEEAERER (TEHE) SHMTE12A1B~12A318
B 4 Gy/h= 1 Sv/h (34909 L4 /BB =198 —A~" W/ B TE)

e | ma% | bEm o | EEs | vhEm | masam | WDEF | ARA | ATEE | wbEm | LpEmn
BEAA | RIER L S NREE v | BEXM = N ST | HEBEUE—| EBXFH | IRARE
LWhEH LWhEH LWhEH LWhEH LWhET LWhEH LWhEH LWhEH LWhEH LWhEH WhET
?E%%jﬁ%?ﬁ‘%ﬂ) 2Lk [icfeagid) Fis) i) ki EELEaL ki ki kil ki kil L
D AL #957km #931km #934km #932km #948km #959km #958km #963km #953km #952km #963km
‘261)7 B sps 0.05 0.06 0.07 0.08 - 004 0.06 - 0.04 0.04 0.04
12’3}1? Bl ses 0.05 0.06 0.07 - 0.05 004 0.05 0.05 0.04 0.04 0.04
‘Zgl? Bl ysps 0.05 0.06 0.07 0.08 - 004 - - 004 004 0.04
12@;3 Bl ises 0.05 0.06 007 0.08 0.05 - 0.05 0.05 0.03 0.04 0.04
‘2? jf; B ysps 0.05 0.06 0.07 0.08 - - 0.05 0.05 0.04 0.04 0.04
12’332)2 Bl ses 0.05 0.06 0.07 0.08 0.05 - 0.05 0.05 0.03 0.04 0.04
‘2}35]2)3 Bl sps 0.05 0.06 0.07 0.08 0.05 - 0.05 0.05 003 0.04 0.04
12’3;‘ B sps 0.05 0.06 0.07 0.08 0.05 0.04 0.05 0.05 003 0.04 0.04
12}3}?;5 B e 0.05 0.06 0.07 0.08 0.05 0.04 0.05 0.05 0.04 0.04 0.04
12’3&? Bl sps 0.05 0.06 0.07 0.08 0.05 0.03 0.05 0.05 0.04 0.04 0.04
12}(;2)7 B ysps 0.05 0.06 0.07 0.08 0.05 0.04 0.06 0.05 0.04 0.04 0.05
! 2’? jff Bl sps 0.04 0.06 0.07 0.08 0.05 0.04 0.05 0.05 003 0.04 0.04
12}35? B ysps 0.05 0.06 0.07 0.08 0.05 0.04 - 0.05 003 0.04 0.04
12’35]3? Bl sps 0.05 0.06 0.08 0.08 - 0.04 - 0.05 0.04 0.04 0.05
1263’; B ysps 0.05 0.06 0.07 0.08 0.05 0.04 0.05 0.05 0.04 0.04 0.04




— = SHTE12H1B~12H318
WhEh REMAREAERER (HEE) B 1 Gy/h= 1 Sv/h (RAIRY LA/ BERE = 0 A~ b/ BSRT)

X3 | g bt | SPES | psm | mmw | miwm | whsh | BRERes LDET
mean | mena | FUAE | See | EPORE | nwmag | BN | emzm | o8 PAIE | BHLRME 5L X| KEREH

LhEM LhEM LhEM LhEM LhEM LhEM LhEM LhEM LhEM LhEM LhEM

Sanunt | diien | o | e | e | foen | doinem | oroem | Dooem | Do | s | #50m
PR e 005 0.06 0.06 005 005 005 007 007 0.06 005 009
1PARR | s 005 0.06 0.06 005 005 005 - 007 0.06 0.06 0.09
12O3R | o 005 0.6 0.06 005 005 005 007 007 0.06 005 009
! 2():1}:)5 1585 0.05 0.06 0.06 0.05 0.05 0.05 0.07 0.07 0.05 0.05 0.09
1205R | e 005 0.06 0.06 005 005 005 007 007 005 005 009
12308 | 1se 005 0.06 0.06 005 005 005 007 007 0.6 0.06 009
L 2(’17)5 1585 0.05 0.06 0.06 0.05 0.05 0.05 - 0.07 0.06 0.05 0.08
1278 1se 0.05 0.06 0.06 0.05 0.05 0.05 0.07 0.07 0.06 0.05 0.09
12A0R | e 005 0.06 0.06 005 005 005 007 007 0.06 005 008
PRVET 5w 005 0.06 0.06 005 005 005 007 007 0.06 005 009
PRUBT 15w 005 0.06 0.06 005 005 005 007 007 005 005 0.09
PRIZE L sm 005 0.06 0.06 005 005 005 007 007 005 005 009
ZRISE L sm 005 0.06 0.06 005 005 005 007 007 0.06 005 009
127 i‘;‘ Bl g5 005 0.06 0.06 005 005 005 007 007 0.06 005 009
ZRE L 1sm 005 0.06 0.06 005 005 005 007 007 0.06 005 009
RSB sm 005 0.06 0.06 005 005 005 007 007 005 005 009




= P . HHTE12A18~12A31H
WRERT RERANREREER (R B4 1 Gy/h= 1 Su/h (AR LA/ =4~ b/ B

ERSE | e b | UPEF | e | mEw | maww | wbsm | BAERe WhE
mean | mena | FUAE | See | EPORE | nwmag | BN | emzm | o8 PAIE | BHLRME 5L X| KEREH
WhEm WhEm WhEm WhEm WhEm WhEm WhEm WhEm WhEm WhEm WhEm
Eeruin " | i | o | B | B | B | B | B | B | B | stk | s
‘261)7 Bl ses 0.05 0.06 0.06 0.05 - 0.05 - 0.07 0.06 0.05 0.09
12’3}1? Bl isms 0.05 0.06 0.06 0.05 0.05 0.05 - 0.07 0.05 0.05 0.09
‘Zgl? Bl ises 0.05 0.06 0.06 0.05 - 0.05 0.07 0.07 0.06 0.05 0.09
12’&25’ Bl isms 0.05 0.06 0.06 0.05 0.05 0.05 0.07 0.07 0.06 0.05 0.09
‘Zéﬁ; Bl ises 0.05 0.06 0.06 0.05 - 0.05 - 0.07 0.06 0.05 0.08
12’332)2 Bl ism 0.05 0.06 0.06 0.05 0.05 0.05 0.07 0.07 0.06 0.06 0.09
‘2}35]2)3 Bl ises 0.05 0.06 0.06 0.05 0.05 0.05 0.07 0.07 0.05 0.05 0.09
12’3;‘ Bl ses 0.05 0.06 0.06 0.05 0.05 0.05 0.07 0.07 0.06 0.05 0.08
12}3}?;5 Bl ises 0.05 0.06 0.06 0.05 0.05 0.05 0.07 0.07 0.05 0.05 0.09
12’3&? Bl ses 0.05 0.06 0.06 0.05 0.05 0.05 - 0.07 0.06 0.06 0.09
12&2)7 Bl ises 0.05 0.06 0.06 0.05 0.05 0.05 0.07 0.07 0.06 0.06 0.09
! 2’? jff Bl ses 0.05 0.06 0.06 0.05 0.05 0.05 0.07 0.07 0.06 0.05 0.08
12}35? Bl ises 0.05 0.06 0.06 0.05 0.05 0.05 0.07 0.07 0.06 0.05 0.09
12’35]3? Bl ses 0.05 0.06 0.06 0.05 - 0.05 - 0.07 0.06 0.06 0.09
1263’; Bl ises 0.05 0.06 0.06 0.05 0.05 0.05 0.07 0.07 0.06 0.06 0.09




WhEth RIEHRSRERNERR (TEB)

HHTEI2A1B~12A318
B 4 Gy/h= 1 Sv/h (34909 L4 /BB =198 —A~" W/ B TE)

, TEE | WhET | WhEm | WbEm | wbEm | 7o7eUy | vhEmx | 2REE | L gy

aEaa | s e BT | S | mEXAH | IR | NRREF | SKUE | BEARE | T | IEEm e

LbhEm LbhEm LbhEm LbhEm LbhEm LbhEm LbhEm LbhEm LbhEm LbhEm LbhEm

ok | Bowm | e | v | tode | Dhom | oo | botm | oo | formm | s | fosaem
2R e 004 007 0.6 005 - 003 004 - 007 0.6 0.04
1PARR | s 0.04 007 0.06 005 - - 0.04 - 0.07 0.6 0.04
12O3R | e 004 0.06 0.06 005 - 004 004 - 007 0.6 0.04
1 2():1}(4)5 1585 0.04 0.06 0.05 0.05 - 0.04 0.04 - 007 0.06 0.04
1205R | e 004 0.6 005 005 - 003 004 - 007 0.6 0.04
12308 | 1se 0.04 0.06 005 005 - 0.04 0.04 - 0.07 0.06 0.04
! 2(’17)5 1585 0.04 0.06 0.05 0.05 - - 0.04 - 0.07 0.06 0.04
! Z(HE%E' 1585 0.04 0.06 0.05 0.05 - 0.03 0.04 - 0.07 0.06 0.04
12ASR | o 004 007 005 005 - 003 004 - 007 0.6 0.04
PRVBL sm 0.04 0.6 0.06 005 - 003 0.04 - 0.07 0.06 0.04
‘2’3 }1; Bl sps 0.04 007 0.06 0.05 - 0.04 0.04 - 0.07 0.06 0.04
PRIZE L sm 004 007 0.06 005 - 004 004 - 007 0.6 0.04
‘2}(2)3 B 1ses 0.04 007 0.05 0.05 - 0.03 0.04 - 0.07 0.06 0.04
ZRISE L yse 004 007 0.06 005 - 004 004 - 007 0.6 0.04
! 2}331 ;5 Bl i5es 0.04 0.07 0.05 0.05 - 0.04 0.04 - 0.07 0.06 0.04
RSB sm 004 007 0.06 005 - 003 004 - 007 0.6 0.04




WhEth RIEHRSRERNERR (TEB)

SHMTE12A1B~12A318
B 4 Gy/h= 1 Sv/h (34909 L4 /BB =198 —A~" W/ B TE)

WhET | TS | LhEm | LpEm | whEm | LhEm | 7o7eUy | vbEmn | o RET | wpem Lgﬁéﬁ
AERA | BT | 2RI = SHXF | EEXE | MIXE | MEEXET | AKLE | BEARE | 707 NI FR z:gz

LbhEm LbhEm LbhEm LbhEm LbhEm LbhEm LbhEm LbhEm LbhEm LbhEm LbhEm
BEE—RHENLD [k i) [ [l [l [ [ (] (] [ [k
771 R U BEBE #361km #339km #343km #335km #335km #353km #354km #350km #349km #334km #355km
ZRIBL 15w 004 007 006 005 - 004 004 - 007 006 004
RSB 15w 004 007 005 005 - 004 0.04 - 007 006 004
‘2}3‘;? Bl 1ses 0.04 007 0.05 0.05 - - 0.04 - 0.07 0.06 0.04
1ZA2B | ysp 004 007 006 005 - 004 0.04 - 007 006 004
‘2}? R R 0.04 007 0.05 0.05 - 0.04 0.04 - 0.07 0.06 0.04
1ZRZZA | g 004 0.06 005 005 - 004 0.04 - 007 0.6 0.04
‘2}35]2)3 Bl 1ses 0.04 0.06 0.05 0.05 - 0.03 0.04 - 0.07 0.06 0.04
PRUB L sm 004 006 005 005 - 003 0.04 - 007 006 004
ZRBB L sm 004 006 006 005 - 004 0.04 - 007 006 004
PRBE L sm 004 007 005 005 - - 004 - 007 0.6 0.04
‘2}?@2)7 Bl 1ses 0.04 007 007 0.05 - 0.03 0.04 - 0.08 0.06 0.04
1ZAZA | ysp 004 0.06 005 005 - 004 0.04 - 007 0.6 0.04
‘2}3323 Bl 1ses 0.04 007 0.05 0.05 - 0.04 0.04 - 0.07 0.06 0.04
RSB sp 004 0.06 0.06 005 - 004 0.04 - 007 0.6 0.04
RSB sm 004 006 005 005 - 004 004 - 007 006 004

WhETMIZF(LWHhER) KHTFI0A13E~ SRIVSOEZBICKYRBPEL-TEYET,
LWhEMIEBARE (WhEH) $SHTFIOAI6B~ HHEBEOC-OHRALTLET,




WhEHF RERSEEAERER (TEHE) SHMTE12A1B~12A318
B 4 Gy/h= 1 Sv/h (34909 L4 /BB =198 —A~" W/ B TE)

WhEm WhEmERE| . WhET
R . f%% RET | LhSh | WhEHRT TRy L TEE | pipaman | TEZEY | smman PUYE= | MR
WhEm WhEm WhEm WhEm WhEm WhEm WhEm WhEm WhEm WhEm WhEm

BEE—FEEMOD mm 3k 3Lk A 3] )=o) 3k 3k 3k T 3k}
7B R B #346km #359km #345km #345km #347km #28km #330km #355km #36Tkm #355km #332km

! Z(HE;) Bl seg - 0.05 0.04 0.05 0.08 0.09 0.07 0.04 0.05 0.06 0.07

! zflﬁz)E' 1585 - 0.05 0.04 0.05 0.08 - 0.07 - - 0.06 -

1 2&3)5 158% - 0.05 0.04 0.05 0.08 0.09 0.07 0.04 0.05 0.06 0.07

! 2()3(4)5 1585 - 0.05 0.04 0.05 0.08 0.09 0.07 0.04 0.05 0.06 0.07

1 2&5)5 158% - 0.05 0.04 0.05 0.08 0.09 0.07 0.04 0.05 0.06 0.07

! 2(’2;)5 1585 - 0.05 0.04 0.05 0.08 0.09 0.07 0.04 0.05 0.06 0.07

1 2&7)5 158% - 0.05 0.04 0.05 0.08 0.09 0.07 - - 0.06 -

! Z(EES)E' 1585 - 0.05 0.04 0.05 0.08 0.09 0.07 0.04 0.05 0.06 0.07

! 25]5]9)5 158% - 0.05 0.04 0.05 0.08 0.09 0.07 - 0.05 - 0.07
12&? Bl seg - 0.05 0.04 0.05 0.08 0.09 0.07 - - 0.06 0.07
‘2}3}1; Bl ises - 0.05 0.04 0.05 0.08 0.09 0.07 - 0.05 - 0.07
12’3&)2 Bl ses - 0.05 0.04 0.05 0.08 0.10 0.07 0.04 0.06 0.06 0.07
‘2}(2)3 Bl ises - 0.05 0.04 0.05 0.08 - 0.07 0.04 0.05 0.06 0.07

! 2’? :ll? Bl ses - 0.05 0.04 0.05 0.08 - 0.07 0.04 0.05 0.06 0.07

! 2}331 ;5 Bl ises - 0.05 0.04 0.05 0.08 0.09 0.07 0.04 0.05 0.06 0.07

! 2’34 f Bl ises - 0.05 0.04 0.05 0.08 - 0.07 0.04 0.05 0.06 0.07




WhEHF RERSEEAERER (TEHE) SHMTE12A1B~12A318
B 4 Gy/h= 1 Sv/h (34909 L4 /BB =198 —A~" W/ B TE)

LWhEm WhETER WhEH
MEA B | AR f:?% fasn | mEEm | g mRY X Ko | ommen | FL2ET | suskan FLE— | RINRER

LWhEM LWhEm LWhEm LWhEm LWhEm LWhEm LWhEM LWhEm LWhEM LWhEm LbhEm
Snnunt | Baom | o | Diom | Diom | e | s | oo | e | sonm | oo | o
12@1)7 Bl s - 0.05 0.04 0.05 0.08 - 0.07 0.04 - - 0.07
12)3}1? Bl qoes - 0.05 0.04 0.05 0.08 0.09 0.07 0.04 0.06 0.06 0.07
12@;? Bl s - - 0.04 0.05 0.08 0.09 0.07 - 0.05 - 0.07
12@;9 Bl yses - 0.05 0.04 0.05 0.08 - 0.07 - 0.05 0.06 0.07
‘2’? B e - 0.05 0.04 0.05 0.08 - 0.07 0.04 - 0.06 0.07
12552)2 Bl qoes - 0.05 0.04 0.05 0.08 0.09 0.07 0.04 0.05 0.06 0.07
‘2’35]2)3 Bl ises - 0.05 0.04 0.05 0.08 - 0.07 - 0.05 0.06 0.07
12’3;‘ Bl g5 - 0.05 0.04 0.05 0.08 0.09 0.07 0.04 0.05 0.06 0.07
12}3}?;5 Bl s - 0.05 0.04 0.05 0.08 0.09 0.07 0.04 0.05 0.06 0.07
maff Bl 1oes - 0.05 0.04 0.05 0.08 0.09 0.07 - 0.05 0.06 0.07
‘2’?@2)7 Bl ysms - 0.05 004 0.06 0.08 0.09 0.07 0.05 0.05 0.06 0.07
12)(@3 Bl 1oes - 0.05 0.04 0.05 0.08 0.09 0.07 0.04 0.05 0.06 0.07
‘2’3323 Bl isms - 0.05 0.04 0.05 0.08 0.09 0.07 - 0.05 0.06 0.07
12’35]3? Bl yses - 0.05 0.04 0.05 - - 0.07 - 0.05 0.06 0.07
12@3; Bl qsm - 0.05 0.04 0.05 0.08 0.09 0.07 0.04 0.05 0.06 0.07

X LOWHhETHREY—EREUE2—(WVhEH) [NTFIASA~ BBHEDQ-HRALTHET,
¥ FHHESH(WLWhEN) SHMTFEIAI9E~ BBEFEESRELTHEYFELEDL, BHLELEOTT—2Z2KRV=LET,



WhEHF RERSEEAERER (TEHE) SHMTE12A1B~12A318
B 4 Gy/h= 1 Sv/h (34909 L4 /BB =198 —A~" W/ B TE)

waswe | E/NMIRE | WhEHYY | WHhEDE WhEm N I e
e n | e | BEESE | (AERE \TEpE | SEoxG| ot | mE0R | LR | sxmare | X8R B
AEAR | REEZ = B |UoE—0R) | FrUTB | wus— =
LWhEH LWhEH LWhEH LWhEH LWhEH LWhEH LWhEH LWhEH LWhEH LWhEH LWhET

BEE—REHNLD L kil ki EElEaL Fis)earric) L L EELEaL 3] FisJearic) ki
D AL #925km #949%km #930km #953km #930km #928km #943km #935km #934km #933km #933km

1 Z(ﬁEﬂ)E 158% 0.11 004 0.07 0.05 0.09 0.08 0.07 0.05 007 0.05 0.06

1 zflﬁz)E' 158% - 004 - 0.05 0.09 0.09 0.07 0.05 007 0.05 0.06

1 2&3)5 158% 0.11 004 0.07 0.05 010 0.09 0.07 0.05 007 0.05 0.06

1 2(’?}(4)5 158% 011 004 0.07 0.05 0.10 0.09 0.07 0.05 007 0.05 0.06

1 2&5)5 158% 0.11 004 0.07 0.05 0.09 0.08 0.07 0.05 007 0.05 0.06

1 2(’226)5 158% 011 004 0.07 0.05 0.09 0.08 0.07 0.05 - 0.05 0.06

! 2&7)5 158% 0.11 004 - 0.05 0.10 0.08 0.07 0.05 007 0.05 0.06

1 Z(EES)E' 158% 011 004 - 0.05 0.10 0.09 0.07 0.05 007 0.05 0.06

1 25]5]9)5 158% 0.11 004 0.07 0.05 0.11 0.08 0.07 0.05 007 0.05 -
mag’ Bl sps 0.11 0.04 0.07 0.05 0.09 0.08 0.07 0.05 0.07 0.05 0.06
‘2}3}1; B ysps 0.11 004 0.07 0.05 010 0.08 0.07 0.05 007 0.05 0.06
12’3&)2 Bl sps 0.11 0.04 0.07 0.05 0.11 0.08 0.07 - 0.07 0.05 0.06
‘2}(2)3 B sps 0.11 004 0.07 0.05 0.10 0.08 0.07 0.05 007 0.05 0.06
12? :ll? B sps 0.11 0.04 0.07 0.05 0.10 0.08 0.07 0.05 0.07 0.05 0.06

! 2}331 ;5 Bl ysps 0.11 004 0.07 0.05 0.10 0.08 0.07 0.05 007 0.05 0.06

! 2’34 f B sps 0.11 0.04 0.07 0.05 0.10 0.09 0.07 0.05 007 0.05 0.06




WhEHF RERSEEAERER (TEHE) SHMTE12A1B~12A318
B 4 Gy/h= 1 Sv/h (34909 L4 /BB =198 —A~" W/ B TE)

waswe | E/NMIRE | WhEHYY | WHhEDE WhEm N I e

e n | e | BEESE | (AERE \TEpE | SEoxG| ot | mE0R | LR | sxmare | X8R B
AEAR | REEZ = B |UoE—0R) | FrUTB | wus— =

LWhEH LWhEH LWhEH LWhEH LWhEH LWhEH LWhEH LWhEH LWhEH LWhEH LWhET
BEE—REHNLD L kil ki EElEaL Fis)earric) L L EELEaL 3] FisJearic) ki
D AL #925km #949%km #930km #953km #930km #928km #943km #935km #934km #933km #933km
‘261)7 B sps - 004 - 0.05 010 0.08 0.07 0.05 007 0.05 0.06
12’3}1? Bl 5es 011 004 0.07 0.05 0.10 0.08 0,07 0.05 0,07 0.05 0.06
‘Zgl? B sps 0.11 004 0.07 0.05 0.10 0.08 0.07 0.05 007 0.05 0.06
12’?@25’ Bl ises 011 004 0.07 0.05 0.10 0.08 0.07 0.05 0,07 0.05 0.06
‘2? jf; B ysps 0.11 004 0.07 0.05 0.10 0.08 0.07 0.05 007 0.05 0.06
12’332)2 Bl ses 011 004 0.07 0.05 0.10 0.08 0.07 0.05 007 0.05 0.06
‘2}35]2)3 B sps 0.10 003 0.07 0.05 0.10 0.09 0.07 0.05 007 0.05 0.06
12’3;‘ B sps 0.10 0.04 0.07 0.05 0.09 0.08 0.07 0.05 0.07 0.05 0.06
12}3}?;5 B e 0.10 004 0.07 0.05 0.09 0.07 0.07 0.05 007 0.05 0.06
12’3&? Bl sps 0.11 0.04 0.07 0.05 0.10 0.08 0.07 0.05 0.08 0.05 0.06
12}(;2)7 B ysps 0.11 004 0.07 0.05 0.09 0.08 0.07 0.05 007 0.05 0.06
! 2’? jff Bl sps 0.11 0.04 0.07 0.05 0.09 0.08 0.07 0.05 0.07 0.05 0.06
12}35? B ysps 0.11 004 0.07 0.05 0.09 0.09 0.07 0.05 007 0.05 0.06
12’35]3? Bl sps 0.11 0.04 - 0.05 0.10 0.09 0.07 0.05 0,07 0.05 0,07
1263’; B ysps 0.11 004 0.07 0.05 0.10 0.08 0.07 0.05 007 0.05 0.06




